Clee [ Today

Principles of Algebra Name/Date
WS 8B.z - More Standard Form and Point-Slope Form
#1-2 - Convert each equation to standard form.
1. 2y =3x—4 2
~3x ~3x Standard Form 2-; =g ¥ +5
-2 2
QL .v\\ .(4’ A'x "'.6\( - C 3Y “gY
-3 +dy ==Y ONo fractions 3 , -3 2
@ « and y Mot 0 left N _2_\/ = b
Ix-2y =4 ® x Arst aad positive 3
3x - dy = 1%

#3 - Write an equation in point-slope form that meets the given conditions.

1
3. Slope 3 through (3, —4)

— Xe Y,

™

Y "'(*‘-l) s —‘,;(76‘3)

Point - Slope Formn
N=Y, ® M(‘X“’X,)

N+Y - -!.;(X—S)

#4-5 - Write each equation in slope-intercept form AND in standard form.

5. 7y = —5(x — 35)

4, 3y =9x +15
Convert to slope-iatercept by solw ng for y:

2 £ 4

(Slape - un'l'erc(p'f')

y=3x+5

Convert to standard Ferm bY fo lows "
the 3 steps listed above ;
y=3x+5
“37( -3x
A0 LY o)
—3X+y =

(standard )

3x-y=-9

Convert to slope-iatercept by solvi g foc y:
Fy = - 5(x-35)

7‘ :‘5"(-!—\?5
Bpr gl

\1:"%«*25

<Slape - m+€r(eq+>

Convert to standad Form by ﬁ”t)wm}
the 3 steps listed above ;

3 4 .
V< "-:;‘X +25q

ty = -5x + 175

+ 5« +5x

5x+?y =175

"

(standard )




#6-8 — Write an equation in point-slope form for each situation, then convert to slope-intercept form, then

convert to standard form.

6. Through (5,-2) and (-2,5)

@ Find slope: m = Y=o
V:-xt

() 7

T () -(5° (5) ?l

@ Point - sloge f»w :

N =Y, :M(’X"’C.)
N+2=-1(x-5)
o |y-5=~1(x+3)

® Slope -inteccept foem :
y=mxtb (Selve for y)

N +2 =-\('x-5)
N+ = ~xX+5
N = -x13

@ Stondard Form
AxaBy =

\l:-x+3

x+y =3

7. Through (3,2) and (—3,-2)

@ Fiad slope : m= Ya-Y:
NORO I

—

T (3)-(-3) ¢
n
@ Point- slope ﬁcm:

\I"Yc :M(«"xl)
Y"Q = 33“('70-3)
o Y42 = %—('x-k?)

@ Slope-intescept form:-
yEmxib (Solve for )

N-a = %(fx-ﬂ
N-2 F %—«-Q
Y = %—’K
@ Standard form:

fx By =C

Y‘g‘“_r"«?‘x-LZy:O
3y =2« Ax-3y = O

8. Slope —4, through (-3, 1)
@ Find slope: m=-~Y

@ Point-slope form:
N-Ye= m(x ~‘xl3

y-1 = ~4(x+¢3)
@ Slope - inteccept fyem

y=mx+¢b YoUF ~H(x +3)
“Yx - 17

W

(50\% FM \[\} \1 -1

11}

Y

~dx -1l

@ Standard form:
ﬁ«+6v:

y = =Hx -1

U +y = =1l




